25.55. A “540-W” electric heater is designed to operate from 120-V ,
lines. (a) What is its resistance? (b) What current does it draw?
(c) If the line voltage drops to 110 V, what power does the heater
take? (Assume that the resistance is constant. Actually, it will
change because of the change in temperature.) (d) The heater coils
are metallic, so that the resistance of the heater decreases w1th
decreasing temperature. If the change of resistance with tempera-
ture is taken into account, will the electrical power consumed by

the heater be larger or smaller than what you calculated in part (¢)?

Explain.



